KOC UNIVERSITY

MATH 101
Midterm 2 April 21, 2008

Duration of Exam: 90 minutes

INSTRUCTIONS: No books, no notes, no gquestions. and talking allowed. You must
alwavs explain your answers and show your work to receive full eredit. Use the back of
these pages if necessary, Print (use CAPITAL LETTERS) and sign your name. GOOD
LUCK!

- \
Surname, Name: AMS Wt vEY
Student 1D no:
Signature:

Instructor’s Name:HALUK ORAL

[ PROBLEM | POINTS | SCORE

l 20 [ -

. ) |

3 201

1 i)

5 ' 20 i
 TOTAL 100




Problem 1 (20 pts) You want to make cqual monthly deposits into an account
which pays 10% compounded monthly for 20 vears in order to then make equal
mont hly withdrawals of 51000 for the next 15 years ;reducing the balance to zero.
(a)(10 pts)low much should be deposited cach month for the first 20 vears?

(b)(10 pts) What is the total interest earned during this 35 year process?
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Problem 2 (20 pts)You want to invest your money in an account and you have
two options, These are the accounts that pay

Account 1: 40% compounded monthly

Account 2: 50% compounded annually

(a)(10 pts) Which account will you to choase to invest your money i and Wl
(b)(10 pts) How long will it take your money to double il you chioose to invest in

Account 17
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Problem 3 (20 pts)Let Ti+3re=H
b +axs=hb
where a and b are constant numbers,
(a)(10 pts) Find the values of a and b so that this svstem has infinitely many
solutions.

(b)(10 pts) Find the values of a and b so that this system has no solutions,
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Problem 4 (20 pts) Solve the system 214310+213=1
2+ 10w+ Hia=1()

Ti.r'| +-r:}.1“-_s T J_.'|:FJ

by using Gauss-Jordan elimination.

! 2 ; 1 ~ 2R 1B =R 1 3 2 f
2 o |0 _ f [ .
3 5 —3R +Rz =1 ¢ ¢ 4 S L & "‘F?_ti
"') ? L_D "";' 1 <
4 5] | _ j | B
3 ﬁ§E1+Pk—1|?.« '|rl rD "f "‘T
0 | i T T | )
o -y | i ‘Q;‘;LAKE'_*E? o | pris ? 3—1E_‘1
' © 0 5 | o
e B 2.2 | 1
o 1 i 3 3t~ |l 2 © ©° | -3
> 6 | 2 Ressp |7 -
| O o { 2 |
I }le = —3
\)(2 =
X3=0

"3 ‘E"L—..E Sl tioA .



Problem 5 (20 pts)Maximize
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